® 54 @ 46 ® 56 @ 48 ® 60



e IHoA BC = 20, /B = 120°
o] AABC ©] Wol7l 403 & uf, AB
o] Aol g otH?

D 8 @ 11 ® 12

@ 13 ® 14

-~

1

2

0

B

BT e
7
!
o
\

~~90---



D 2cm ® 242cm ® 243cm
@ 4cm ® 4vV3cm



4.

O 284 H P =5 & AB, CD o 3ol &

4rem ©]th. /ACD = 27° , /BPC = 57° & ufj, ]

Zolg F5hH?

@ 8cm @ 12cm

® 16cm

@ 20cm

® 24cm



_ 5
5. B=90°< A7 ABC oA sinA = 3 A off, tan(90° - A)

O] Zr22(H, 0° <A <90°)



th& 1% BAAAY ABCD
Hol7k 30 & ), AD o] Lol

D V2 @ V3 ® 2 @ 3 ® 4



o2 13-4 PA, PB= 9 0 9 A
olt}, /P = 60°, OA = 4cm ¢ ©f, PA

o Goli?

@ 6cm @ Tcm ® 4+2cm
@ 4+3cm ® 3vV3cm



0] sin 90° + cos 0°

— 09 %

2x2 - 1lx+a

3 ol

)

x o

@ 13 ® 12 @ 11 ® 10

® 14



